
Motor speed = 3.000 rpm

Gearbox ratio 100 : 1

Gear Head Sprocket wheel Z1 = 10 Teeth

Drive Shaft Sprocket wheel Z2 = 20 Teeth

N1 (rpm) = motor speed / gearbox ratio

= 3000 / 100 = 30 rpm

N2 = rpm driving shaft
Z1 x N1 = Z2 x N2
10 x 30 = 20 x N2
N2 = 15 rpm

Mobile speed = (Pi x carriage wheel ᴓ ) x N2 (rpm)

= (3,14 x 0.140) x 15

= 6,5 mtr./min.

In case of Sprocket wheel or drive
wheel diameter of  the innerspace
carriage 140 mm = 0,140 m

Mobile Shelving - Determine the Gear Ratio & Mobile Speed

In case of driving shaft diameter ᴓ 20 mm



DETERMINE  THE GEAR RATIO  & MOBILE SPEED   

Z1 x  N1  =  Z2 X N2
10 X 30  =  20 X N2
N2 = 15 RPM

IN CASE OF THE YOUR CARRIAGE WHEEL DIAMETER  
140 MM  = 0,140  METRE

3,14 X 0,140 =  0,439

YOUR  DETERMINED  MOBILE SPEED 

15  X 0,439  = 6,5 METER  / MINUTE

IN CASE OF THE FOLLOWING  GEAR RATIOS FOR YOUR DRIVING SYSTEM
10 TEETH  SMALL CHAIN WHEEL FOR MOTOR GEAR HEAD SHAFT
20 TEETH BIG CHAIN WHEEL FOR DRIVING SHAFT  



½  Small Chain Wheel’s
For Motor Gear Head
Number of  Teeth 10

½  Small Chain Wheel’s
For Motor Gear Head
Number of  Teeth 10 
Diameter 45,2mm

½  Big Chain Wheel’s
For Driving Shaft
Number of  Teeth 20

½  Big Chain Wheel’s
For Driving Shaft
Number of  Teeth 20
Diameter 85,8mm

WHEN USED  THE  INDICATED CHAIN WHEELS
10 TEETH CHAIN WHEEL FOR MOTOR GEAR 
HEAD SHAFT
20 TEETH CHAIN WHEEL FOR DRIVING SHAFT  
YOUR  MOBILE  SPEED WILL
6,5 METER / MINUTE



NOTE : USE RIGHT  TAPPER LOCK  DIAMETER RESPECTED TO YOUR  DRIVE SHAFT  (SUCH Ø20MM)



10  OR 11 TEETH SMALL CHAIN WHEEL FOR MOTOR GEAR HEAD SHAFT   
(Depend on Determine the Gear Ratio & Mobile Speed) 



20  OR 21,22,23 … TEETH BIG CHAIN WHEEL FOR DRIVING SHAFT                              
(Depend on Determine the Gear Ratio & Mobile Speed) 



½   CHAIN -CLOSED  FOR SMALL & BIG SPROCKET WHEEL  





REFERENCE   MOTOR MOUNT  & CONNECTIONS 


















